GENERAL NOTES:
1. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.ED.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE
THE 2017 (6th EDITION) OF THE FLORIDA BUILDING CODE.

WITH

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE,

FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7—10 FOR INSTALLATIONS UNDER 2017 FBC AND SHALL
NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 9 THRU 15.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7—10
SHALL BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO
TO COMPARE THESE W/ MAX. (A.S.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 9 THRU 15,

N ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE IN
ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60 WAS USED FOR
VERIFICATION OF FASTENERS IN WOOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1626 OF THE
ABOVE MENTIONED CODE AS PER AMERICAN TEST LAB REPORTS # 1022.01-96, # 0221.01-01 AND # 0616.02—-05, PER

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON, FLCO PANELMATE, CF TAP-GRIP AND CRETE—FLEX S54 ANCHORS INTO CONCRETE
BLOCK UNIT SHALL BE 1 1,47 1 3/8" FOR ZAMAC NAILIN ANCHORS.

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO STUCCO
SHALL BE PERMITTED. 1,/4"6—20 SCREWS USED SHALL BE 1 1/27 LONG MINIMUM SHOULD STUCCO EXIST, AND 1"
MINIMUM FOR WALLS WITH NO STUCCO.

B.3) MINIMUM EMBEDMENT OF 1,/4" x 3/4” ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE BLOCK.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” 8—20 S.S. MACHINE SCREW USED SHALL BE 1 1/2”7 LONG
MINIMUM SHOULD STUCCO EXIST, AND 17 MINIMUM FOR WALLS WITH NO STUCCO.

B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE
LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES
IN B.1) AND B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

PROTOCOLS TAS—201, TAS—202 AND TAS-203.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION
OF 15) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

DETAILS SHOWN ON SECTIONS 1 THRU 16 (SHEET 3 & 7

N

. ALL ALUMINUM SHEET METAL PANELS SHALL HAVE 5052—-H32 OR 3004—-H34 ALLOY.

. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED.

Y]

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY
ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL
BUILDINGS.

THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE

ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME
50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION

4711.3.3.4.
= 9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH

BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AIS! 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH. THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.

10. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS

6. ANCHORS TO WALL SHALL BE AS FOLLOWS (UNLESS OTHERWISE NOTED): PROVIDED BY THE JURISDICTION WHERE PERMIT 1o apmLIeD To
(A) TO EXISTING POURED CONCRETE: 71. (a) THIS PRODUCT EVALUATION DOCUMENT (P.ED) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION
~ 1/4" @ TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX. (REGULAR OR 410 S.5.) FOR A SITE SPECIFIC PROJECT: i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE. P.E.D.
- 1/4" @ CRETE-FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.
- 1/4" ¢ CF TAP—GRIP ANCHORS (BERTHA STUD-CON), AS MANUFACTURED BY TRU—FAST CORPORATION. (b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
~ 1/4" @ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC. PRODUCT BASED ON THIS P.£D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON
~ 1/4" 8 x 7/8" CALK—IN ANCHORS OR ELCD male & femole "PANELWATES A8 MANUFACTURED THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.
~ 1/47 8 x 3/4" ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL FPOINTS SCREW, BOLT & SPECALTY COMPANY. (c) THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.
NOTES: (d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL

BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.ED. ENGINEER, SHALL SUBMIT TO
THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

A1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS OR CRETE—FLEX 554 IS 1 3/4":
FOR ZAMAC NAILIN ANCHORS IS 1 3/8": FOR ELCO PANELMATE ANCHORS IS 1 3/4%

AND FOR CF TAP—GRIP ANCHORS IS 1 1/4".
(e) THIS P.ED. SHALL BFAR THE DATE AND ORIGINAL SEAL AND
THAT PREPARED IT.

SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD

A2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE.  NO EMBEDMENT INTO STUCCO
SHALL BE PERMITTED. 1,/4"¢—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 17

MINIMUM FOR WALLS WITH NO STUCCO. - SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL IN ACCORDANCE WITH

SECTION 1709.9.3 OF FLORIDA BUILDING CODE. ONE IABEL SHALL BE PLACED FOR EVERY OPENING. LABELING TO COMPLY WITH

SECTION 1708.9.2 OF THE FLORIDA BUILDING CODE.

A.3) MINIMUM EMBEDMENT OF 1/4"8 x 3/4" ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE POURED CONCRETE.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" 8—20 S.S. MACHINE SCREW USED SHALL BE 1 1/2” LONG

MINIMUM SHOULD STUCCO EXIST, AND 17 MINIMUM FOR WALLS WITH NO STUCCO.

A4) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS . THIS DRAWING SHALL ONLY BE USED TO
s ,
INDICATED ON NOTES A.1) & A.2) ABOVE. “.:Ew A NMAA\.@« OBTAIN PERMITS IN THE STATE OF FLORIDA
dEKER A, o
(B) TO EXISTING CONCRETE BLOCK WALL: o WVM g e h.\,..uwv =
~ 1/47 8 TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX. (REGULAR OR 410 S.S.) W S \CENe . vas
- “ﬁ ¢ CRETE—FLEX SS4 hanQWm AS ibzcﬁnéﬂmb BY ELCO CONSTRUCTION PRODUCTS. 0 O DR FLORIDA_BUILDING CODE (High Velocity Hurricane Zone)
— 1/4" & CF TAP—GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU—FAST CORPORATION. ) S =
= 1/4" ¢ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC. N 3 G0 R 0.050" BERTHA ALUMINUM STORM PANEL it
— 1/4" 8 x 7/8" CALK—IN ANCHORS OR ELCO male & female "PANELMATE® AS MANUFACTURED ] (2.25" DEEP) ORAWN BY:
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY, 3 07726717
= 1/47 8 x 3/4" ALL POINTS SOLID~SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY. ———l —m COine EASTERN METAL SUPPLY, INC pei
3 : 4268 WEST ROADS DRIVE
TILLIT TESTING & MZB.___ZM_.—..:_QZD COMPANY WEST PALM BEACH, FL. 33407 17 00
B B iy AT e R PHONE: (561)533-6061, FAX: (561)588-4780 =i
. EB-0005719 premmpy prer— e T s Frr—— — DRAWING No
T WALTER A, TILLIT Jr. P.E.
gy i3 FLORIDA Lic. # 44167 . QD 1508 | 0mae/n3 > SHEET 1 oF 15




———3.000" Max. 2.560"

} 15.119" (TOTAL WIDTH) 9.118" (TOTAL WIDTH)

; T — W e
. g _ | 1 :
_Iiﬁ 000" (EFFECTIVE 3u€|’_ [—6.000" (EFFECTIVE an.él_ | | .2 J\ & % A .
1.500" \@ AS APPUCABLE (Bp) 1 500~ 1.5 1.500" 1.500" S _ s ¥ B x = | _
T 4 £.473" 4.473" ! __ = : 4.473" - 1 | Foas. | | : |
Dl g A [ O ;
Y "_ L. m m &ve 8 ~ b _125° m
52 83 7. ?
= M A= M A —f—-.075"
]l_. _ [ |
* |
_IN. Gm-lrrw.mwu.'_lm umu.lﬁ 2125 | i J
7||N..uan
(1) ALUMINUM PANEL (1A) ALUMINUM HALF PANEL | o
SCALE : 1/4" = 1" SCALE : 1/4" = 1" @ hm Rmm“mmw
@ 3* Max h:_..l BUILD 0OUT SCALE : 3/87 = 1”
— ﬁ<hnﬁn SCALE - 3/8" = 1"
§ 3 e
ﬁ . . P, g 554 T ~14es s swp
S 5 I 7 e g o %, RIVETED TO ANGLE
B o208 ¥ BT T 8 fl 7 8% ﬁ g A 750 @ SPACINGS SHOWN
8 [ - 7 T I 7R B ON' SECTIONS.
= f | ' L ow
| i —% Pl & =
1 [ 4 R ] — ;A SEE 2
; il & — ALTERNATE 5 N R |logan 1 3
8 200" © LEG Soﬁoﬂ/ % ‘ = :
- I - S ———
.093° . f
384" — _V H == — : : ! _ oo
— F -
29 =39 20 pum 23
. ® ) REVERSED "F” ANGLE TRACK @ _F”_TRACK ANGLE (@ STUDDED ANGLE
@ E SCALE : 3/8" = 1" SCALE : 3/8" = 1~ %&na%.w_w .#.ﬁ.ow
SCALE : 3/8" = 1" SCALE : 3/8" = 17 lmk NEAR . SCALE, 2 3/8" =
SCALE : 3/8° = 1" W
hcma\h%‘hi - - _nlcm.u
g MMM\ () 5/8 HOLES _ T H“ e
s [ ey 750 _F ~1/4" 8 S 5 s / AT TOP LINE = -
;B RIVETED TO ANGLE \ '
1/4"¢ 5. S STUD . IL! ﬁ 21257/ e 157 0c X i _ f
RnverED To avete— U L o 2 - O 0 - -
12 0. ¢C ¢ ! [ | =
@ +/ [ ® ALTERNATE A [ n =
. _ % LEG LOCATION ~\ | | 2
3 il \ | | T m._ ~r./u
2 SEE (2) 5/16" HOLES ﬂ ! bk
_ oETAL 1§ ] AT BOTTOM LUINE =~ Rg :
A — I FOR 1/4"6—20x1" ., e
| .. ! B e ] | 5.5. MACHINE W
I
—.632 T | SCREW TAPCONS | |
v i = - - A - —{ 050" 07 060"
e = r g = — .093"
1 | ]
ANGLE WITH STUD Hists: ) | I DETAIL e, sion o sicre
SCALE: 127 = 1* o NICKEL PLATED WING NUT
i 5 SCALE: 3/16" = 1"
\I!ut r=
uumu\\h\%\%\\
t
..“ U,a m« o
VE TR FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
: ©2017 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL L
(2.25" DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC | “7%”
ILIEC O ’ aTE:
. 4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17-100
6355 J36th. St, Ste. 305, INIA GARDEN: 33168 ; = = i -
T aw&mww B iy a@%w o PHONE: (561)533-6061, FAX: (561)588—4780
COMPONENTS o TRl i e | 172100
WALTER A. TILLIT Jr. P.E. -
FLORIDA Lic. # 44167 . o (B L2 2T : SHEET 14 OF 15




— TOP TRACK

“ (SEE COMPONENTS, SHEET 1A OF 15)

l%u ! CONCRETE ANCHORS ﬂm.nJml MQIM.DQTU ! tw:!
ax. [ Mox.
17 Min. T Min.
[o] [ [e] le] (o] o]
| i A ek kentan S haaie: Snsien nnny pian: Saake' uniey nbanias it shaak i hanbenten vobasy Ny fOR: Suntentery pobuch nismte ciie (esesbent aled et Aty detentent auieay b Sy S st sl Shdy ety Sl Ealereds pedy Fammbond peta mleEsk: i
] W I I I 1 I ” _ [} I I I 1 I I ” i | 1 i i _ I 1 | 1 1 m I | i i I I I | I I 1
ﬁ i 7 _ f i
M | | m
| | .\__ _ /\m \._< ] | gb_.. W
A A A A
T vV v
_ M A , w _ o
| | n 5
_ , , by
{ | T
m | | 2
| “ >
n | ©
v Wy
| TYP) 3
| | | &
| | | I
ﬁ _ _ | “ A
, | , &
; | ;
_ ol
| - W
W | n _ S
| | | .q...e. & Ly
i | _, A i ; _ , L A | 1 - -
A 4 v "
| T i\ | K EEEERE T =
| | | | | 5
M ﬁ A | ,m I
| | | | | |
_, _ L, gﬁ m m ; S 3
ol SR - 090 SO 0 1 R 0 O T O I S ‘
,_ _ | “ . |
s e ® | e ST s
,, |
- 3" ? CONCRETE ANCHORS ﬂ.m,mm. MGIWDCFW& | o 37—
Max. ﬁ | Max.
1 Min. | 1 Min.

LA ‘ll\ﬁ Max. GAP
N ~N

STORM PANEL TYPICAL ELEVATION

SCALE : 1/8" = 1”

(Dr

|

— BOTTOM TRACK

(SEE COMPONENTS, SHEET 1A OF 15)

1/4" Max. GAP —=| |=—

N

N/ \

AN AN

SN SN NSNS N\ST

SECTION A—A

SCALE : 1/8" =

77

3¢ $i388875, ‘v,
\TER 4 =
(AR A 2

.....

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

FLORIDA Lic. # 44167

4

©2017 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL Le.
(2.25" DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC | “7x”
ILIECO ; dord
INC. :
4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407
6355 MV, Sau, S, Se S5 WRGNA CARODE, L 33189 PHONE: (561)533-6061, FAX: (561)588—4780 17-100
EB-0006719 Fev. No DESCRIPTION DATE | Rev. Ho DESCRPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. &
1 OLD 15-049 07/26/17 3 SHEET 2 OF 15




CONCRETE ANCHORS

(SEE SCHEDULE)
/( *
n_P -500" -250"
i J _ Max.
L) _
POURED W |
CONCRETE | |
REQUIRED \ .
_ ﬁ Cont.
| [ R
| N O 2~
_ | &
A | 2
AR _ S
| | Ly
SEE SCHEDULE FOR | ,m a
| Min. SEPARATION [T ~
TO GLASS =
| | (4]
|
_
| =~
| | :
| ; &
. - _ ;
bl\ , | =
POURE| i.mv
CONCRETE S | ﬁ
OR CONCRETE . |
BLOCK WALL 4 X :
REQUIRED _L |
|
e=H1 |
| 21250
CONCRETE ANCHORS'
(SEE SCHEDULE)
Cont.
SECTION @ ANCHOR
A
L 1
o
| | 3
|
! B O] o
Ly
7 L
=y
POURE] | S
. CONCRETE . 5 =
Q
. OR CONCRETE. ' ! b\ﬁg vc.w\% B
W BLOCK WALL | | —TevEry sTup
REQUIRED o e 1270 ¢ ¥
| g
&y
1, Em.u, |
1
Cont.

SECTION @ STUD

WALL MOUNTING INSTALLATION

SECTION 1

SCALE : 3/8” =

"

NOTE : DETAIL OF SECTION @ STUD VALID ALSO FOR
WALL MOUNTING INSTALLATION — SECTION 2 (TOP)

9 ) Cont.

CONCRETE ANCHORS

(SEE SCHEDULE) s | J
— 37 L
i e m 1
i _
: 1 |
Q
POURED

REQUIRED !
I/ | W

|
|
CONCRETE ui 1! |
|
|
|

|

, |

SEE SCHEDULE FOR | |
Min. SEPARATION _
0 GLASS

1/4" 8-20 x 3 A
BOLTS W/ 7/8

3/327 WING NUT % | |
127 0. C.

- 1
bQQ_ﬂhbl\‘

CONCRETE
OR CONCRETE

BLOCK WALL
REQUIRED

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

[a)
i

e —

CONCRETE ANCHORS \‘

(SEE SCHEDULE)

WALL MOUNTING INSTALLATION
SECTION 2

SCALE : 3/8% = 1”7

EDGE DISTANCE
(SEE_SCHEDULE ON
SHEETS 10 & 11)

E D =

CONCRETE ANCHORS
(SEE SCHEDULE)

=

|

CONCRETE ANCHORS
(SEE SCHEDULE)

Cont.
| 250"

Max.

e ]

POURED S
e | |
N ]
_ [}
-
Do 0
SEE SCHEDULE FOR
Min. SEPARATION —o] |
TO GLASS _
| f I
m A A
A\ FA\
A \ _ ﬁ
;
| .
| |
1/47 9-20 x ,M\.“
BOLTS W/ 7/8 , _
_ 3/32” WING NUT ) u
127 0. C. ;
|
.uo%mol\ L _
CONCRETE ‘
OR CONCRETE k, ﬁ
BLOCK WALL i |
REQUIRED _

—

CONCRETE ANCHORS”

(SEE SCHEDULE)

Max. PANEL LENGTH (SEE SCHEDULE, SHEET ()]

BUILD OUT INSTALLATION

SECTION 3

NOTE FOR COMBINATION OF SECTIONS :

WALL MOUNTING SECTIONS CAN BE

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

SCALE : 3/8"

POURED
CONCRETE

REQUIRED /

: TR

£ o /
M

I

\'@ Cont.
J 250"

SEE SCHEDULE FOR
Min. SEPARATION
70 GLASS

Max.

|
|
|
|
|
|

|
|
Ti\J

|
|
|
|
|

7/8" x 3/32"
WING NUT @
EVERY STUD
@ 127 0. C.

POURE] Dl\

CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED

Q
L

Cont

1. ‘mm

|
_

_
o)

—

_ |

—®

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

k
_

_
|
|
|
o
_
|
|

H r 500"

m

CONCRETE ANCHORS
(SEE SCHEDULE)

Lll

P@ Cont. ﬁ

Min. _'

1/4” 9-20 M. S.
W/ NUT @ 127 0. C.

BUILD QUT INSTALLATION

SECTION 4

mn&,@ &u\%ﬁ\ m

ﬁ .,” w\.\

FLORIDA BUILDING CODE (High Velocity _I:ﬁh.nmam Zone)

©2017 TILTECO, INC. 0.050” BERTHA ALUMINUM STORM PANEL LC
(2.25" DEFP) DRAWN BY:
EASTERN METAL SUPPLY, INC | /%47
ILIECO inc. , oATE:
4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMFANY WEST PALM BEACH, FL. 33407 17-100
8355 N.W. 3 St, Ste. 305, VIRGINIA GARDENS, Fl. 33 i A —
Tl G Ay 168 PHONE: (561)533-6061, FAX: (561)588-4780
EB-0006719 REV. WO DESCRPTION oA | Rev. te DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. -
FLORIDA Lic, # 44167 . sl 5T : SHEET 3 OF 15




7\.6 Cont.

CONCRETE_ANCHORS
(SEE SCHEDULE) ~_

.500"

1/4” ¢-20 5 S. MACHINE
BOLT W/ NUT & WASHER
@ 12" 0. C

17 Min

wm".—%%

W

=
’ [ T I
= I I I
POURED 55
CONCRETE f f |
REQUIREL |
o cl/ | | I |® m
_ _ [ Cont. _
| I =
_ | | I 5
| f I I ¥
n
SEE SCHEDULE FOR ; Lol @ e
Min. SEPARATION | | I ]
O GLASS _ I 2
Ly
m _ [ I &
| )_ I | | 0
\ .
," . | o =
| /4" 8-20 x 3/4" o
| BOLTS W/ w\m.\ x | m _ w
3/32" WING NUT | ! I v
@ 12" 0. C. | | | =~
| | g
| ALTERNATE =
| LEG LOCATION ﬁ L &
| | I X
|
| | | =
| _
I .
POURED _/ -
CONCRETE S
OR CONCRETE .
BLOCK WALL 1 I
REQUIRED
e

| e &
CONCRETE hz%%w\
(SEE SCHEDULF)

nl[. Cont.

1/4" §-20 S. S. MACHINE
BOLT W/ NUT & WASHER
@ 127 0. C.

BUILD OUT INSTALLATION

— SECTION 5

EDGE DISTANCE
(SEE SCHEDULE ON
SHEETS 10 & 11 OF 15)

E D =

SCALE : 3/8" = 1"

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

CONCRETE ANCHORS

(SEE SCHEDULE)
POURED CONCRETE / |

— £Q.

REQUIRED |/

| E «b.

EQ.

1

.250"
Mox.

—{ H ) Cont.

|
I
I
I
I
I
I
I

—®

,_
|
_
ﬁ
|
_
|
[

TO GLASS !

—®

7/8" x 3/32"

[
I
I
|
1
T
|
I
f
I
f
[
| wine vuT @

1 L —feverr s
@I @ 12° 0. C

Cont.

=i
L

|
SEE SCHEDULE FOR |
Min. SEPARATION [~
_

j..
NQ~MM

POURED CONCRETE |\
REQUIRED

CONCRETE ANCHORS \

(SEE SCHEDULE)

CEILING & FLOOR

MOUNTING

INSTALLATION — SECTION 6

SCALE : 3/8" = 1"

= Mox. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

| E B:
CONCRETE ANCHORS

(SEE SCHEDULE)
POURED CONCRETE / f
REQUIR 5.5,

QU _rnnbl/ —II“_ IMJ“
(AN

| S E

rh.__..mmihﬂm
_ LEG LOCATION

_ 1/4” §—20 x

‘ 3/4” BOLTS W/
7/8" x 3/32
WING NUT @

_ 127 6. c. ——

|

| A

_ Y

P — — — e — ]

f

|

|

|

|

[

|

[

_

|

I_ SEE SCHEDULE FOR |
Min. SEPARATION [

7O GLASS |

|

|

|

|

|

— 1/4” 8-20 x

i 3/4” BOLTS W/
|

ﬁ

7/8" x 3/32
WING NUT @
127 0. C.

——————Mox. PANEL LENGTH (SEE SCHEDULE, SHEET 9) — .|

]

POURED ncz%.ﬂml\ i
REQUIRED

: Ly
CONCRETE Lz%%m\r

(SEE SCHEDULE) E. D

CEILING & FLOOR MOUNTING
INSTALLATION — SECTION 7

CALK—IN OR ALL POINT SOLID-SET
OR ELCO male/female
PANELMATE OR CF TAP-GRIP

(SEE SCHEDULE) /

I

=

POURED
CONCRETE (=]
OR CONCRETE G
BLOCK WALL

REQUIRED |/

—

I_mmm SCHEDULE FOR |
Min. SEPARATION [

m TO GLASS
_ |
| _ _
. , | :

o |

POURED l\ / L
CONCRETE o S
OR CONCRETE _ !
BLOCK WALL i} | |
REQUIRED P
, ﬁ

Mox. PANEL LENGTH (SEE SCHEDULE, SHEFET 9)

CALK—IN OR ALL POINT SOLID—SET
OR ELCO male/femnale

PANELMATE OR CF TAP-GRIP
(SEE SCHEDULE)

WALL MOUNTING INSTALLATION

— SECTION 8

SCALE : 3/8" = 1”

<tRA. 7y =
cv o &
m..hwv.(.....:::;. £

»
*
»
»

S\ EN :.U\Vc\ -
ch.?w% L

(D. M.)

GIIIIIIIIEGYE - 3787 = 1
¥

- a® ®

- .
- *tos0nee®

\«l- AT
= 0N AL VO

L % L0RI0R. &

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

0.050" BERTHA ALUMINUM STORM PANEL

FLORIDA Lic. # 44167

2 4

©2017 TILTECO, INC. LC.
(2.25” DEEP) ORAWN BY:
_:.__m CO e EASTERN METAL SUPPLY, INC | 7%~
- 4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17—100
€355 N.W. 36th. Si, Ste. 305, VIRGINA GARDENS, Fl. 33165 3 . 5 =
Phone : .\.wQu\_mVnml“m.ﬁu . Fox : (305)871-1531 PHONE: ﬂ.mm u.m.m.w,u. 6061, FAX: W.mm.ny,mmm1>ﬁﬂ%ﬁ
wa ﬂhMmlﬁm\mwﬂm - FEV. NO DESCRPTION DATE | REV. Mo DESCRIPTION DATE DRAWING No
LTER A TILLT Jr. P.E. —
! o 15 o |zl s SHEET 4 OF 15




CONCRETE ANCHORS
(SEE SCHEDULE)

CALK—IN OR ALL POINT SOLID—SET OR
ELCO male/female PANELMATE OR

ELCQ male/female PANELMATE PLUS
@@ 1/4"0—20 SIDEWALK BOLT OR @

(SEE SCHEDULE FOR SPACING)

—E="= S S
| | LI
, y
| )
m T f == =
y | | =
POURED D. A , U =
CONCRETE = _ k
REQURED N\ | 4 [ I
| | | 2
k , ﬁ Cont. Q
. . b POURED L
! CONCRETE
[ REQUIRED
|

GLASS

_

{]

f

i

|
SEE SCHEDULE FOR |
Min. SEPARATION  |—

TO GLASS A

_

EXISTING \\h
i

|

_

A

| N
1/4" 8-20 x 1° S.SM.S.

W/ 7/8" ¢ x 3327 |
wine 'zt @ 1270 ¢ | |

| b
|
POURED .I\

CONCRETE

OR CONCRETE
BLOCK WALL
REQUIRED

—— £ § ]

HEE

750"

Min.

W/1/4"6~20 TRUSSHEAD BOLT + +

CALK—IN OR ALL POINT SOLID-SET OR

ELCO male/female PANELMATE OR
ELCO male/female PANELMATE PLUS

&%

1/4°0—-20 SIDEWALK BOLT OR @

(SEE SCHEDULE FOR .m.._uhD._e.QyI/

CH

SEE SCHEDULE FOR
Min. SEPARATION
T0 GLASS

A
3

1/4” =20 x 17 S.S.M.S.

UL | . | P

WING ?__S. @ 12" 0. C.

_
|
POURED I\

CONCRETE
OR CONCRETE
BLOCK WALL

——— Mox. PANEL LENGTH (SEE SCHEDULE, SHEET L —

W/ 7/8" 8 x 3/32" —

!
Q
REQUIRED 5
|
|
|

4

|
CE==

CONCRETE ANCHORS _/
(SEE SCHEDULE)

375"

\T

6
Cont.

WALL MOUNTING INSTALLATION

SECTION 9

SCALE : 3/8" = 1"

EDGE DISTANCE
(SEE SCHEDULE ON
SHEETS 10 & 11 OF 15)

E D =

CONCRETE ANCHORS l\u
(SEE SCHEDULE)

WALL MOUNTING INSTALLATION

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

SECTION 10

SCALE : 3/8" = 1~

+ +
SIDE WALK BOLTS ARE 3/4"6x3/32"THICK
HEAD MACHINE SCREW W/LENGTH

J':,’

.

POURED
CONCRETE
REQUIRED

~———E. 0.~

W/1/4"9-20 TRUSSHEAD BOLT + +

/

7/8"¢ x 3/32"
/  WING NUTS @ 12" O.C.

_
ﬁ
h_ SEE SCHEDULE FOR
| Min. SEPARATION
TO GLASS

T
I
[

-®

|
[
I
[
[
I
I
I
i
[
_
[
I
I

A
/Y
j

wsy ey gl [l

7/8" ¢ x 3/32"

| wine nuT €—— |

' EVERY sTuD

e 120 C
—_—

\l;

POURED ! o
CONCRETE *

OR CONCRETE M
BLOCK WALL
REQUIRED

CONCRETE mznlommN ;
(SEE SCHEDULE)

T
I
I
!
|
I
I
[
|
I
I
|
I
I
[
I
I
I
_
I
;
‘
!
_
I
I
[
I
,
I
I
I
I
"

T ————Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9) -

WALL MOUNTING INSTALLATION

SECTION

11

SCALE : 3/8" = 1”

CONCRETE ANCHORS .
(SEE SCHEDULE) _

POURED

CONCRETE
REQUIRED /

\% 70 GLASS

SEE SCHEDULE FOR ||
Min. SEPARATION —|

A
i
Y

|
7/8" 8 x 3/32" |

WING NUT @
EVERY STUD |
_ @ 12”7 0. C

Cont.

_ ALTERNATE LEG *

LOCATION
?l\l.l £7] ST

[ .
_ \ POURED
| £~ CONCRETE
R REQUIRED

CONCRETE ANCHORS —
(SEE SCHEDULE)

CEILING & FLOOR MOUNTING
INSTALLATION SECTION 12

SCALE : 3/8" = 1"

EDGE OF
SLAEB IF
APPLICABLE

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

0.050" BERTHA ALUMINUM STORM PANEL

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

AS PER NOTES A2 & B.2 (SHEET 1)
+ +

TRUSS HEAD BOLTS ARE 1/270x1/8"THICK
HEAD MACHINE SCREW W/LENGTH

AS PER NOTES A2 & B.2 (SHEET 1)

i,g.y:vﬂo,\a‘,’

'l
7’

LA &
S L P N
*ropene? N
- ..ﬂ.u‘Jm see AN i
ONAL N,

e

]

T
-
Fp

TR s oany

©2017 TILTECO, INC. LC.
(2.25" DEEP) DRAWN BY:
liLleEco EASTERN METAL SUPPLY, INC | /%"
INC. 2
4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17—100
6355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, Fl. 33168 s 5k 3 _ -
Phone : (305)871-1530 . Fax : (3081871 - 1431 PHONE: (561)533-6061, FAX: (561)588—4780
EB-0006719 RV, WO DESCRPTION DATE | Rev. N DESCRPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E —
FLORIDA Lic. § 44167 L LB I 2 - SHEET 5 OF 15




CONCRETE ANCHORS
CONCRETE ANCHORS
(SEE SCHEDULE) / 5 (SEE mnxmmch@/
I T ) x ©
/ EXISTING .,rTF =K o X I T 8 .

1 1/4" MiN. — 2"~ 3 127 BAICK JEENER ! &= T E=——=f 7 88
PENETRATION 7O _ Max ‘ _ _ _ oo
CONCRETE BLOCK T I ! I A _

& 2" To CONCRETE |° S _ Lo " | __ ﬁ t
— 1 o RN | : 1
| | POURED ;
a ‘ \x REQUIRED _ ] : N2 cont. | CONCRETE i | I I
_, 2 [ ors _ I _ mmasamo/ | _ i —_—
(bt S i S % o B ; ﬁ | a . |
. . F 18 S T | B m ; ! .
- @ . @ T I “ | b _ . \ ]
3 & o [ ‘ I H m ! _ | ,_ | w | _
;e ; | _, . ! I
] s “ . _ ExisTNG—" | O > exismwe ! I O
; . _ cLass | | | . GLASS SEE SCHEDULE FOR >
\ , L [ | L o Min._ SEPARATION [ I ks
[ | | SEE SCHEDULE FOR |, ; S | 70 GLASS | | 5
| |
/ T n L m " T Min. SEPARATION [~ _ i i AL L &
/ f | P _ k TO GLASS _ P 3 : N : E,
g | | | I S| &
POURED CONCRETE Nﬂ\ﬁ 9x8" ELGO male | ExisTivG | [ 9 | | =
OF' CONCRETE_ bl Ock CANETIAIE TS sl L Sreet awere unrer ” _ | o S _ 8
| I @A | | T
WALL REQUIRED (SEE SCHEDULE FOR SPACING). | | A i
AS APPLICABLE _ | L@ | A w _ [ 5
T T T T g DETAIL 2/7
| I _ | : L 2 _ Lo i
\/\ | L] ! 1/4" 8-20 x 1" S.S.MS. : L3 x I . [ a
| W/ 7/8" 6 x 332" F— ; Q I N | | T
- | WING NUT @ 12" 0. C. i | | S | ) | _ o
i, SEEARATON I | _ o p _ I ] g
TO GLASS _, w _, S _ ., _ S 1/4” 9-20 x 17 S.S.MS. [ o
| - | | [ay ” n
| L i | L . Wi ' e" e G o 5
< | . 8 | - Fo -
I I Q , I | | = " X
“ L g l\ | O _ __ - u g
EXISTING | | i . mmw_\wwmﬁ | | I _ 3 . | “ | ~
BRICK SILL . b 3 OR CONCRETE | | b ! g . | e O)
/4" 8-20 x 3/4 | I I a BLOCK WALL = | | | POURED | |
, BOLTS W/ 7/8%x | L & REQUIRED ) . _ CONCRETE “ oo
| 3/32" WING NUT @ —— S : | OR CONCRETE ,‘ [
_ 1270 ¢ | | I | . | BLOCK WALL g | [
_ , m | | m | g, REQUIRED & m _ |
| | |
L * 1 : | _ | I
11747 MIN. . i (- | | , r | | u@ _ |
- PENETRATION TO | EXISTING || (I CONCRETE ANCHORS ~
I comcreTE BLock | FLASHING AS 1 I | (SEE SCHEDULE) [
| & 2" TO CONCRETE | | APPLICABLE | | i e L 1
Hy et atd, * / n Lo _ CONCRETE th:ommTll 375"
‘ “ s [, - ) : — . - Lo _ (SEE SCHEDULE) T
E ‘ . . 5 | I b _ INTERIORLY REMOVABLE PANEL () W,/
2 [ AN NI SN A Pt mw_ 3 1 [ m .® SIDEWALK BOLTS (SEE DETAIL 2)
| g | e | R IR ooy I e , L k ot CONNECTED T0 (1)) THRU 5/87%
g T I & lh L _ HOLES AT @ @ 6" O.C & FASTENED
L . . AT REAR W7 7/8%8x3/32" WING NUT
_ 1 __ I I “ SEC ﬂ\QZ 14A SECTI ON 1 48 © EVERY SIDEWALK BOLT.
\ o I "
i | - |
W T e 3 | | ] 1
| : / [ o — WALL MOUNTING INSTALLATIONS
. . i 2" 3 12" Cont.
Mox. Max.
3 BN T | ExisTinG SECTIONS 14
IS U N g S 3 -
POURED CONCRETE \ 1/4°8x8" ELCO male ; D
OR CONCRETE BLOCK - PANELMATE TVAS ANCHORS INSTALLATIONS. VALID FOR PANELS (1) USED JOINTLY
WALL REQUIRED (SEE SCHEDULE FOR SPACING). ] z

TH'INTERIORLY REMOVABLE PANELS (1)

. at A tr. v
D OOENgL P

A -
s =
-

b

A

BUILD OUT INSTALLATION

) » & . y g .
E D = wumm Emuzm_m N s p " FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
SEE SCHEDULE ON ) : ! A4 E =
SECTION 13 SHEETS 10 % 11 OF 15) § § No. 44167 3y ° oz017 TLTECO, MC 0.050" BERTHA ALUMINUM STORM PANEL e
SCALE : 3/8" = 1" . * P (2.25" DEEP) DRAWN BY:
NOTE FOR COMBINATION OF SECTIONS : 3 . s \ l—l—ll_ —l m n o / EASTERN METAL SUPPLY, INC 07/26/17
~ VRN ] DATE:
WALL MOUNTING SECTIONS CAN BE E . = S mm.a_.z_ ZM. e 4268 WEST ROADS DRIVE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. \ TILLIT TESTING & ENGINEERING COM. WEST PALM BEACH, FL. 33407 L
D e 6355 u.__.”amm;w u%mumw“m i MR «u&.‘.wﬁm L, 3188 PHONE: (561)533-6061, FAX: (561)588-4780 17-100
s..\&rﬁmm.mhlnwmmwuw B REY. NO DESCRIFTION DATE REV. Mo DESCRPTION DATE DRAWING No
. T, oL
FLORIDA Lic. # 24167 . e S 7 74 : SHEET & OF 15




CONCRETE ANCHORS

(SEE SCHEDULE ) /

POURED CONCRETE

REQUIRED

PRRLRY

_rT_m.Q.l_vAIMO.J 5
-

I E D.

|

.
Min.

SCHEDULE FOR
SEPARATION
TO GLASS

Cont.

e

bl 780 x 3/327
, I winG nUT @
I EVERY STUD
@ 12" 0. C

—— Max. PANEL LENGTH (SEE SCHEDULE, SHEET @)

_
|
I
I

A EH \

POURED ODZQEWH m

REQUIRED

CONCRETE ANCHORS

‘ 1.125" r~

(SEE SCHEDULE )

7 \\ﬁm\\\\\ A A A

ol

EDGE OF
SLAB IF

SECTION 154

APPLICABLE

CONCRETE ANCHORS E D
(SEE SCHEDULE )™
N
POURED CONCRETE
REQUIRED /h‘ £Q. —
E * 5

‘

| |
_ ",
|

|

|

;

,

Tmm SCHEDULE FOR|,
= Min. SEPARATION [~
_ TO GLASS

Mox. PANEL LENGTH (SEE SCHEDULE, SHEET L e ——

7/8" ¢ x 3/327
WING NUT @
1~ EVERY STUD
| e 12”0 C

_// 4

1.125% I——

s

REQUIRED
CONCRETE ANCHORS _/

/ FALY \”\ e 2e
POURED CONCRETE I Lge sue e
\L,r A

(SEE SCHEDULE ) _

SECTION 158

CEILING & FLOOR MOUNTING INSTALLATIONS

SECTIONS 15

SCAIE : 3/8" = 1"

5.5. SIDEWALK BOLTS,

1/4"-20x1"
W/3/4" SLOTTED HEAD, FIXED IO
[ INTERIORLY REMOVABLE PANEL (1)
THRU KEY HOLE (2) @ 6~ O.C.
W/ 1,/4"-20 NUT AT REAR.

~——

.1875
AHHT =
7
7/8" 8 x 3/32"
WING NUT @
@ 6" 0 C
= w

INTERIORLY REMOVABLE PANEL (T)W/
SIDEWALK BOLTS (SEE DETAIL 2)
CONNECTED TO @ THRU 5/87¢

HOLES AT @ @ 6" O.C & FASTENED

AT REAR WJ 7/8%9x3/32" WING NUT

© EVERY SIDEWALK BOLT.

¥ Ey

E D. = EDGE DISTANCE
(SEE SCHEDULE ON

SHEET 10 & 11 OF 15)

CONCRETE ANCHORS

(SEE SCHEDULE ) , E D \
POURED L
CONCRETE —. :

£Q. |_|4r £Q. IJ

REQUIRED /

NN

_// ///7 NN

w
_
|
f
|
!
_
I
|
_
V

SEE SCHEDULE FOR
Min. SEPARATION —
70 GLASS

f
I
|
_
I
AL

[ S

A

I
_
_
*
I
/8" # x 3/32" :
WING NUT & — |
EVERY STUD / |
e 12" 0. C |

o1
—

ALTERNATE LEG
\I!hoﬁxﬂ_d?_

‘Max. PANEL LENGTH (SEE SCHEDULE, SHEET §)— o |

&
| | 1

118

revonsie INSTALLATIONS VALID FOR PANELS DQMMD ,\O\Zﬂ:\

PANEL

5 8
\\

Il

[

L POURED
CONCRETE

REQUIRED

77 x\ 1
W gx )

Il
pr

CONCRETE ANCHORS /|

- \. '
(SEE SCHEDULE ) _1T £0. —

SECTION 16A

CEILING & FLOOR MOUNTING INSTALLATIONS

CONCRETE ANCHORS

(SEE SCHEDULE )*
/ f——E D.

POURED |
ngz%.ﬂml/ A
REQUIRED “
/ — EQ.—7- £Q.
R
T M = *vm
g 8¢

|
|

_
T
|

SEE SCHEDULE FOR |
Min. SEFPARATION —{
70 GLASS |

|
, N
a //ﬁ R ,7/
T
_
]
f
|
|
_
|
|
!
|
I
_
|
1

Cont.
EDGE OF | aLTERNATE LEG
SLAB IF ——— LOCATION

APPLICABLE, P T3

7/8" ¢ x 3/32"
WING NUT & —, !
m EVERY STUD | _
| @ 12° 0. ¢ | |

[

|

I

I

J [

| W_O

Lo
L

|

f

I

I

1.125" |-

l@ Cont.

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

\‘\

' CONCRETE
REQUIRED

SECTION 168

\\ \ g v

_uocmmml\ CONCRETE ANCHORS \
(SEE SCHEDULE )

NOTE FOR COMBINATION OF SECTIONS :

FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

SECTIONS 16

SCALE : 3/8" =

"

AT REAR

ﬂm.b.l

INTERIORLY REMOVABLE PANEL (T)W/
SIDEWALK BOLTS
CONNECTED TO

HOLES AT @ © 6" O.C & FASTENED

w7 7/8°6x3/32" WING NUT

SEE DETAIL 2)
THRU 5/8%

©@ EVERY SIDEWALK BOLT.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

/

©2017 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL LeC.
(2.25" DEEP) DRAWN BY:
07/26/17
ILIECO e / EASTERN METAL SUPPLY, INC e
i 4268 WEST ROADS DRIVE
(JILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17-100
th. Si DENS, I3 16 o O -
Phon : (305)871-1530 . Fax ¢ (3088711531 PHONE: (561)533-6061, FAX: (561)588—4780
- Hm.w.m\_ Q@NM.WHW g FEV. NO DESCRIPTION DATE REV. No DESCRPTION DATE DRAWING No
L ; r. P.E. =
FLORIDA Lic. # 44167 : e S EE R SHEET 7 OF 15




. 1/4” Mox. GAP @ 1/4" Mox. GAP

A “ 2
AANYANYANAN ANVAN

1

SECTION B-B

SCALE : 1,8" = 17

@ 148/, P 142/,
15,16B/7 15,16A/7
(WHOLE) (WHOLES) _ 168/ 168/
, BUT NOTCHED 1/4"-20x1" S.S.
EA CORNER @ SIDEWALK BOLTS.
_ o, A= [ SEE DETAILS 2/7,
; . A 2/15 ; (WHOLE)
I v ! : v
i i ”, \
@ &
.......... Ll J 4L 0 INTERIORLY REMOVABLE PANEL (1) W/
e e L|el: SIDEWALK BOLTS (SEE DETAILS
% W R 2/7, 2/14) CONNECTED TO (1)) THRU
o : ERE 5/8"0 HOLES AT (1)@ 6" 0C &
o , 1o FASTENED AT REAR W/7/8"8x3/32"
. B oo - o R COE P N A WING NUT @ EVERY SIDEWALK BOLT.
[l el 1l Ig = o
]
| 3 "
| =7 | lgrere |
M _
_ _ 14B/86, lvt:y\m.
| _ 15,16B/7 15,16A/7
| |
b | CONCRETE ANCHORS (SEE SCHEDULE) 37
Max. Max.
1 Min. 1 Min.

INTERIORLY REMOVABLE STORM PANEL
PARTIAL ELEVATION Y ——

. - - Lk ww “w A ¥
SCALE : 1/8" = 1 LR AR /e
wﬁky@mf .........w..-urf\“Y a\%n
& T OOk B
N : 3 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
N 3 ©2017 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL Lc.
3 , (2.25" DEEP) DRAWN EY:

1L

4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407

b S / TILIEC O me, \| EASTERN METAL SUPPLY, INC | “5i”

6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, FI. 33166 g 1 . (L NNI NQQ
M S e e S S PHONE: (561)533-6061, FAX: (561)588-4780
EB—-0006719 REV. NO DESCRIPTION DATE | Rev. we DESCRITION o4TE DRAWING No
WALTER A. TILLIT Jr. P.E. -
FLORIDA Lic. # 44167 : S B L £ 4 B SHEET 8 OF 15

2 4




mm%m_u CONCRETE
CONCRETE BLOCK
CUT PANEL \! WALL REQUIRED )
2" x 3" x .093" 3105 H-14 OR

6063-T6 ALLOY Cont. Alum. ANGLE
WITH ANCHORS @ 12" 0. C.
CONCRETE ANCHORS 2y 1
\; CONGRETE A R CORRESPONDING MAXIMUM PANEL LENGTH 'L~ SCHEDULE
= HALF PANEL > 147 cAP d.a.%z
2" % 4" 5 125" T 2.500" MAXIMUM A.S.D. APPLICABLE TO
3105-Hi4 OR 6063—~T6 ALLOY Min. / e %%wmmmh NG e .nmzw_w wmzni MINIMUM SEPARATION| ~SECTIONS # &
Cont. Alum. ANGLE . : ANY COMBINATION
ont. Alum _ \ ; POURED CONCRETE (p.s.f.) (SEE SECTIONS) 70 6rass OF THEM
: ; g —_— \\ OR CONCRETE BLOCK
WALL REQUIRED 5 i
CASE A TU\QﬁC /@ ¢ +65.0, =77.0 | 8'-0" OR LESS 2 1/4 1 THRU 8
SCALE: 1/47 = 17 +65.0, =77.0 9'-0" OR LESS 3 11/16" 1 THRU 8
CASE D :U\Q.By +65.0, —72.0 9'-0" OR LESS F 12" 11
SCALE: 1/4" = 1" +62.0, =733 10'-0" OR LESS 3 7/8” 2, 6, 7 & 8
L +63.5, —63.5 9'-0" OR LESS 3 1/2” g, 14, 10
+65.0, —65.0 9'-0" OR LESS 3 1/27 12, 15 16
. v o +63.5, —63.5 | 9°-0” OR LESS 3 3/4” 13
ax.
POURED CONCRETE I
OR CONCRETE BLOCK '\ ! @ POURED CONCRETE
WALL REQUIRED OR CONCRETE BLOCK
WALL REQUIRED |/
2.500" Min.—} ‘m\%,.x
CONCRETE ANCHORS > : POURED CONCRETE
@ 12" 0. C _‘ 25007 (REQ'D) /" OR CONCRETE BLOCK
S I} Min. WALL REQUIRED
_—
- _
1.000" |
r:mm_ﬁﬂm LEG LOCATION xn%%%w_nm.cw
2" % 2" x 055" T0_—" |
2" x 5" x .055" Cont.

Alum. ANGLE OR
080" 3105—-H154 SHEET
METAL Alum. BENT PLATE

1/4” ¢ BOLT 4" x 4" x .072"
@ 24° 0. C. 3105-Hi4 OR 6063-T6 ALLOY
W,/ JACKNUT Cont. Alum. ANGLE

CASE B (Plan) CASE C (Plan)

CASE D (Plan
SCALE: 1/4” = 1"

SCALE: 1/4" = 1"

SCALE: 1/4" = 1"

END CLOSURES DETAILS WNTER 47

{4 =
o NN T4 7=
§ o’ el T s
W . LCLs . N
3 - Vg, . ,\“yﬂw
m, b \WQ AN B3 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
3 M ©2017 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM FANEL Lc.
m (2.25" DEEP) DRAWN BY:
3 07/26/17
\ ILIECO n. / EASTERN METAL SUPPLY, INC | "%
. 4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407
e o T SRS . e PHONE: (561)533-6061, FAX: (561)588-4780 17-100
s‘hhﬂmm.mh.lﬁ_m_mw\ﬁw s REV. NO DESCRFTION DATE REV. No DESCRIPTION DATE DRAWING No
FLORIDA Lic. § 44167 L Gl Do s : SHEET 9 OF 15




MAXIMUM MAXIMUM ANCHORS SPACING FOR E D. = J 1/2™ % AFPLICABLE TO
LW%MM.MMWWE REGULAR TAPCONS CRETE-FLEX SS4 ZAMAC NAILIN CALK—IN SOLID—SET CF TAP—GRIP PANELMATES PANEIMATE PLUS 410 5.5. TAPCON xzmwn.hﬂ,.‘%“m:\pnﬂa. WMWMWMKH_W}”MU
RATWG. {p.s.1] TO CONCRETE| TO BLOCK TO CONCRETE| 7O BLOCK |70 CONCRETE| TO BLOCK |70 CONCreTE| TO Biock |ro concrete| 710 sBLock |10 concrere TO BLOCK TO CONCRETE| 1O BLOCK |TD CONCRETE| TO BLOCK TO CONCRETE| TO BLOCK oF H.mmt ! |
8" N/A N/A N/A 4* N/A 8" N/A NAA N/A 5" N/A 3 12" N/A N/A N/A N/A N/A 1 (TOP) £ B = EOGE: DISTANCE
12* 4 N/A NAA 107 7 12" 12" 7= NA N/A 127 6" 11" 8" 12" 7 12" N/A N/A 1 (BOTTOM)
12* N/A N/A N/ 10* N/A 12* N/A N/A N/A 127 N/A 11* N/A N/A N/A N/A N/A 2 (Top)
12" 4" N/A N/A 10" 7 1/2" 12" 7" N/A N/ 12" 6” 11" 8" 12* 7 1/2" N/A N/A 2 (BOTTOM)
12* N/A N/A N2 10" N/A 12" N/A N/A NAA 2= N/A 1" N/A N/A NAA N/A N/A 3 (ToP)
12* 4 N/A N 10" 7 12" 12" 7" /A N/A 12 & 11" 8" 12" 7 1/2" N/A N4 3 (BOTTOM) ANCHORS LEGEND
12" N/A N/A N/A 10" N/A 127 N/A N/A N/A 12° N/A A NsA NAA N/A N/A N/A 4 (Tor) ANCHOR TYPE LZ@M.%
12 % N/A N/ r0° 7 1/2° 12 7 N Ny/A 12 6 1” 8" 12 7 1/2" N/A A 4 (BOTTOM) T 2k Mmaqm
127 N/A N/A NAA 10" N/A 12" N/A N/A N/A 12" N/A ek N/A N/A N/A N/A N/A 5 (TOP) CF TAP—GRIP, PANELMATE OR PANELMATE PLUS. :
12" 4 N/A NAA 107 7 1/2" 127 7" N/A N/A 12~ 6" 1° 6" 12* 7 172" N/A N/A 5 (BOTTOM) CALK—IN 2.5"
8 1/2° N/A 12° N/A 5 1/27 N/A 7 172" N/A NAA N/A g 1/2" N/A 11 1/27 NAA 117 N/A g 12" N/A & (TOP) SOLID-SET 25"
8 1/2" N/A 12" N/A 5 1/2" N/A 7 12 NAA 10 1/2% N/A 8 1/2" N/A 11 1/27 N/A 11" N/A 9 1/2" N/A & (BOTTOM) CRETE FLEX 5S4 6.0"
+63.5, -63.5| 7 1/2" N/A 11 1/2" NAA 5" N/A 7" N/A 10 1/2" N/A 7" N/A 10 1,2 N/A 10" N/A 8 1/2" N/A 7 (TOP/BOTTOM) | 9'-0" OR LESS REGULAR & 410.5.S TAPCON IN BLOCK 40"
N/A N/A N/A NAA N/A N/A 12" 7= 12” 12" 12* 6" 6" 6° 12" 12" N/A N/A 8 (Tor/BOTTOM) | * REGULAR & 410.5.S TAPCON IN CONCRETE 30"
17" N/A 12° NAA N/A N/A 12* N/A N/A N4 N/A N/A 12" N/A 12" N/A 12" N/A 9 (TOP)
12" 4" 12" 10" N/A N/A 12" 9" N/A N/A N/A N/A 12° g" 12* 7 1/2° 12" 5 9 (BOTTOM)
n/a N/A H/A N/A /A N/ 127 6 12 127 N/ N/A 12” 8 12" & N/ wn i e, o) *
12* 4 12" 10 N/ N 12 9" /A NAA /A NA 12* 8" 127 7 12" 12" 5" 10 (BOTTOM)
N/A N/A N/A N/A N/A N/A NAA N/A N/A NAA N/A N/A 12" 9" N/A N/A N/A N/A 13 (TOP)
N/A NAA N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12" 8" N/A NAA N/A N/A 13 (BOTTOM)
12”7 N/A 12" NAA N/A N/A 12”7 N/A N/A N/A N/A N/A 12" N/A 1z" N/A 127 N/A 14 (TOP)
12* 4" 12° 10" N/A N/A 12° g~ N/A N/A N/A N/A 12" 8 12° r 12" 6" 14A (BOTTOM)
12" N/A 127 7" N/A N/A 12" B e N/A NAA N/A NAA =2 8" 2= 5 172" 12" 4" 148 (BOTTOM)
11 1/27 N/A 12" N/A N/A N/A 12" N/A N/A N/A NAA N/A 127 N/A 12" N/A 127 N/A 12 (TOP)
8 1/2" N/A 12- N/A N/A N/A 7 172" N/A 10 1/2" N/A N/A N/A 11 1,/2" N/A R N/A 9 1/2" N/A 12 (BOTTOM)
1 1/2" N/A 12" N/A N/A N/A 12" N/A N/A N/A N/A N/A 12" N/A 12* N/A 12° N/A 15 (TOP)
8 1/2" N/A 12" N/A N/A N/A 7 172" N/A N/A N/A N/A N/A 11 1,/2" N/A 1" N/A 9 1/2" N/A 154 (BOTTOM)
N/A N/A N/A NAA N/A N/AA N/A N/A NAA NAA N/A N/A 3* N/A 3" NAA 3" N/A 158 (BOTTOM)
117 1/2”7 N/A 12° N/A N/A N/A 12* N/A N/A N/A N/A N/A 12" N/A 12" N/A 1% N/A 16 (ToP)
8 1/2" N/A 12" NAA N/A N/A 7 1/2" N/A N/A N/A N/A NA 11 172° N/A 1" N/A 9 1/2" N/A 164 (BOTTOM)
3" N/A N/A N/A N/A N/A 3" N/ N/A N/A N/A N/A 4" N/A 4" N/A 4" N/A 168 (BOTTOM)
8" N/A N/A N/A 6" N/A 5" N/A N/A N/A 6" N/A 6" N/A N/A N/A N/A N/A 2 (ToP)
6" 4" N/A NA 6" 6" 6" 6" N/A N/A 6" 5" 6" 5" N/A N/A N/A N/A 2 (BOTTOM)
+65.0, —65.0 6" N/A N/A NA 4 1/27 N/A 6" N/A N/A N/A 6" N/A 5 1/27 N/A N/A N/A N/A N/A & (TOP) 9'-0" 70 10°-0"
6" N/A N/A NAA 4 1/2" N/A 6 N/A g 12" N/A 6" N/A 5 1727 N/A N/A N/A N/A N/A 6 (BOTTOM)
&" N/A N/A N/A 4" N/A 8" N/A 9 1/2" N/A 6" N/A 4 1/2" N4 N/A N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 6" 6" 12° 11° 6" 5" &" . 5r N/A N/A N/A N/A 8 (Tor/soTTOM) | *
" REDUGE ANGHIOR SPACIG. 7 MULTFLYING SPHCIE SHOMN O SCHEDGLE BY THE oLre AEroRs, ** | IMITED TO 5'—4°
(NOTE: Min. E. D. FOR CALK—IN ANCHORS IS 2 1/27) ;
CESS TS S e Pon B SR e A e T B FLORIDA_BULLDING CODE (High Velocity Hurricane Zone)
TACTOR u ©2017 TILTECO, INC. 0.050° BERTHA L__ﬁ.cmS\ZQ\& STORM PANEL Le.
ACTUAL £ D\ RECULAR TAPCON & | ZAMAC NALIN, CRETE=FLEX $54 & | core v |souo-ser |or map—crp 2 (2.25" DEEP) ORAWN Bx:
470 S.S. TAPCON | PANELMATE OR PANELMATE PLUS. 3 07/26/17
3 - .86 .75 .78 7.00 3 ———l —m n o — EASTERN METAL SUPPLY, INC o
2z - - ST X SHeNEERae COuRANY Ve el oo 5547 17100
2" - .50 - = = Phons - (305)871=1530 . Fan = (3080891 - 1231 PHONE: (561)533-6061, FAX: (561)588—4780
1 1/2" 0.35 = P - - WALTER & Mg.mmmﬂwn P.E e i DR il Dl o
FLORIDA Lic. # 44167 = = SHEET 10 OF 15




MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" % APPLICABLE TO
>.w%mm%m“%_< REGULAR TAPCONS CRETE-FLEX 554 ZAMAC NAILIN CALK—IN SOLID-SET CF TAP-GRIP PANELMATES PANELMATE PLUS 410 5.5. TAPCON SECTIONS of & i\tqt%»zm
RATING (o) I concrere| 10 eLock |10 CONCRETE | _TO BLOCK | TO CONCRETE| TO BLOCK |70 CONCRETE| TO BLOCK |70 CONCRETE| T0 BLock |To concrere| 70 BLock | T0 CONCRETE| 7o BLock |To CONGREIE] To BLook |70 CONCRETE TO BLOCK “r on% ﬁmﬂuoz RERET £ D. = EDGE DISTANCE
6" N/A N/A N/A 3" NAA 6" NAA N/A N/A 3 12" N/A 2 1/27 N/A N/A N/A N/A N/A 7 (ToP)
12” 4 N/A N/A 10" 6" 12" 6" N/A N/A 12" 4" g 127 7" N/A N/A N/A N/A 1 (BOTTOM)
12" N/A N/A N/A 10" NAA 12" NAA N/A N/A 12" N/A g 1/27 NAA N/A N/A N/A N/A 2 (ToP)
12" 4" N/A N/A 10" 6” 12" 6" N/A N/A 72" 4~ 9 1/2" 7" N/A N/A N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 10” N/A 12" N/A N/A N/A 12" N/A 9 1/27 N/A NAA NAA N/A N/A 3 (ToP)
12" 47 NAA N/A 8" 6 12”7 8" N/A N/A 12" 4" 9 1/27 7" N/A N/A N/A N/A 3 (BOTTOM)
+65.0, —77.0 127 N/A N/A N/A 10" N/A 12% N/A N/A N/A 12" N/A 9 1/2” N/A N/A N/A N/A N/4 4 (TOP) 9’-0" OR LESS
72" 4" N/A N/A 8" 6" 12" 6" N/A N/A 12" 4" 9 1,27 7" NAA N/A N/A N/A 4 (BOTTOM)
12" N/A N/A N/A 8" N/A 12" N/A N/A N/A 12” N/A 9 1/27 N/A N/A N/A N/A N/A 5 (TOP)
12" N/A N/A N/A z* 5" 12" 5" N/A N/A 0" 4" 7 1/2" 4" N/A N/A N/A N/A 5 (BOTTOM)
7" N/A N/A N/A 4 1/27 N/A 6" N/A N/A N/A 7" N/A 5" N/A N/A N/A N/A N/A & (TOP)
7" N/A N/A N/A 4 172" N/A 6" N/A 9" N/A 7" N/A 5" N/A N/A N/A N/A N/A 6 (BOTTOM)
6" N/A N/A N/A 4" N/A 5 1/2" N/A 9” N/A 6" N/A 4 1/2" N/A N/A N4 N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12" 6" 12* 10" 12" 4" 6" 4” N/A N/A N/A N/A 8 (TOF/BOTIOM)
6 1/2" N/A 12" N/A N/A N/A 6" N/A 9 1/2" N/A N/A N/A 9” N/A g” N/A 712" N/A 7 (TOP/BOTTOM)
+65.0, —72.0] N/A N/A N/A N/A NAA N/A 12" 6” 12" 11” N/A NA 12" 8" 70" 6" N/A NAA 11 (TOP) 9'-0" OR LESS
12" 4" 12" 9” N/A N/A 12" 8" 12" i N/A N/A 12~ 7" 12" 6 1/2" §9% 5T 11 (BOTTOM)
6" N/A NAA N/A 6" N/A 6" N/A 12" 10" 6" N/A 8" N/A N/A N/A N/A N/A 2 (ToP)
6" N/A N/A N/A 6" 5 12 6" 5" N/A N/A 6" 1" 6" 6" N/A N/A N/A N/A 2 (BOTTOM)
6" N/A N/A N/A 4" N/A 6" N/A N/A N/A 6~ N/A 5" N/A N/A N/A N/A N/A 6 (ToP)
+62.0, —73.3 6" N/A N/A N/A 4" N/A 6" N/A 8” N/A 6" NAA 57 N/A N/A N/A N/A N/A 5 (BOTTOM) |9'-0” TO 10'-0"
6" N/A N/A N/A 5" N/A 6" N/A 8" N/A 5 1/2" N/A 4" N/A N/A N/A N/A N/A 7 (TOP/BOTTOM)
NAA N/A N/A N/A N/A N/A 6" 5" 12" 10" 6" 4" 6" 4" N/A N/A N/A N/A 8 (ToR/BOTTOM) | * SIS0,
1L <y s,
N/A N/A N/A N/A N/A N/A N/A N/A 12" 10" N/A N/AA N/A N/A N/A N/A N/A N/A Jmmwwww% L,._..twwaurm = m wvou.wu....p.
11 (TOR/BOTTOM) | i A

ANCHORS LEGEND

Min.
* MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1,/2° EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2° ANCHOR TYPE ANCHOR
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS. SPACING
(NOTE: Min. E. D. FOR CALK—IN ANCHORS IS 2 1,/2")
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE ZAMAC NAILING, 307
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND. CF TAP-GRIF, PANELMATE OR PANELMATE PLUS.
FACTOR CALK—~IN 25"
ACTUAL E. D.
REGULAR TAPCON & | ZAMAC NAILIN, CRETE-FLEX SS¢ & | i i |soup—ser |or mam—crip I -
410 S.5. TAPCON | PANELMATE OR PANELMATE PLUS. FLORIDA BUILDING CODE (High Velocity Hurricane Z one)
- - ; .75 .7 1. CRETE FLEX 554 6.0"
i i 5 00 ©2017 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL Le.
2 1/2" - 2 .50 = .80 REGULAR & 410 S.S. TAPCON IN BLOCK 40" (2.25" DEEP) DRAWN BY:
2" - .50 - - -
REGULAR & 410 S.5. TAPCON IN CONCRETE 3.07 07/26/17
A - = : - iILIEco EASTERN METAL SUPPLY, INC
INC. :
N 4268 WEST ROADS DRIVE
T BT £ SNCNEES oy Ve A i . 17-100
A 3 - E, . VIRGING . . & . -
Phone : (305)871-1530 . Fox : (305)871-1531 PHONE: (561)533-6061, FAX: (561)588-4780
EB—0006719 REV. NO DESCRIPTION DATE REV. Mo DESCRIPTION DATE DRAWING No

WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. § 44167 J e O 774

2 4

SHEET 11 OF 15




/4" 6 LAG SCREWS
@ 6" 0.C W/ 1 1/2" Min.

(181 o 1/4" 8 LAG SCREWS

@ 6" 0.C W/ 1 1/2" Min.

~-433" 0.0. x .634" LONG BRASS

BUSHING W/ 1/4" 6-20 x
2°5 5 S Ms e 127 oc

' FOR SPANS UP TO 5'-9” AND

THREADED PENETRATION g I TR ; 3
~——T0 EXISTING WOOD HEADER. N THREADED PENETRATION JFT | 249.9¢ me on 1o
/ B TO EXISTING WOOD HEADER, 1/4" @ LAG SCREWS ~_ I 9-20 ELCO iam\_.msn___m
, . @ 6" 0.C W/ 1 1/2" Min. < ; PANELMATE @ 12” O.C. W/
/ & S . THREADED PENETRATION TO _ e 1 7/8" Min. PENETRATION
= s &% % EXISTING WOOD HEADER. : FOR SPAN UP TO §'—0”
. 8 i
| E T Cont. . T I—
IRt u .. @ — |
Rlifl 8 _ | 1/4" 8-20 5. S. BOLTS @ | W_
| —(2) cont. | 12" 0. C. W/ NUT & WASHER | g
il | | ! i |
S | S PIE i % Cont. m == 3 Min J Fw % . | ‘
! _ X — g — N= ; \ IIAHV k
WOOD HEADER _ I@ WOOD HEADER i |@ | ' r_rln_J, — T * BN
REOUIFeL REQUIRED _ k 2° B L= S
ﬁ i . Min. = o _ o
= N . /AT _ & / 2
_ 3 ] Lol 1@ @© WOOD HEADER ‘
SEE SCHEDULE FOR o SEE SCHEDULE FOR | o P S P g (%) REQUIRED 2
| in. SERaRATON 1= & Min. SEPARATION P @ B R , Cont. | &2 * o
TO GLASS 0 T0:GrAsS | in _ g SEE SCHEDULE 2
_ S ER N = WOOD HEADER | - FOR Min. _ "
| 2 . . 2 REQUIRED _ —() 4 1 seramimon || ]
Ly Ly TO GLASS
] N § ALTERNATIVE 5 & * = -
(R . . E g
. z x SEE SCHEDULE FOR g b S B 4
ALTERNATIVE 1 m e —— Min. SEPARATION — _ % K = "
3 i g 7O GLASS _ g A A Jﬁ g
o ! i} _ & B
n 3 | : —A— L | 5
g .
ﬁ 2 _ P. — ||...ir\‘| ‘|_ 2 _ M,
- g Bl R S —® |
< — . | - ALTERNATIVE 7 | |
S — : () i
7/8" 6 x 3/32" a0t = 13 O 7 ] o | ﬁ
WING NUT © g~ I\ i , g ; _ .,
| EVERY STUD © < N - , | 3 - m
e . 12" o.c ; | 1y !
(" | [ " T L P —
odl- = - (Hy N © MIDWIDTH OF PLATE
[ e £ : [ : " ,
.\ 1/4%-20 55 ] - .
X O ,ﬁ Cont mmhwm W\W \ “IM— 433" 00 x 634" LONG BRASS
i 1125 Al - " I BUSHING W,/ 1/4" 8-20
F , A - 7/87 x 3/32 7 /i X
WoOoD sTuD WING NUT WOOD ) - 2°5.5 5 M S @ 12" o.C.
18 e 24" o (= 0 12" O.C oA v FOR SPANS UP TO 5'-g"
il \@ Cont. Aecioris - .C. PLATE AND @ 6" 0.C. FOR SPANS UP
n 1\ um o 146 screws _ REQUIRED 70 9'-0" Max. OR 1/4"
2" x 4" pPLATE]! | 6 6" 0C W/ 1 172" i | 1/4" & LAGC SCREWS #—-20 ELCO male/female
1l - Soetnd v & £
REQUIRED || | - . : . » PANELMATE @ 12" 0.C. W/
e Min. THREADED PENETRATION N @ 6" 0.C. W/ 1 1/2 1 7/8" Min. PENETRATION
i @ MIDWIDTH OF PLATE. . (|- Min. THREADED PENETRATION FOR SPANS UP TO 90"
, = _ © MIDWIDTH OF PLATE. .
p\

ALTERNATIVE 2 ALTERNATIVE 6

) L e

SEE SCHEDULE FOR |

WALL MOUNTING INSTALLATIONS
TO GLASS ...@ Wﬁﬁﬂ\ozm A

SCALE : 1/4" = 17

1/4°9-20 S.5. NOTE FOR COMBINATION OF SECTIONS:
BoLTs w/
e wr” o s SeCTON T FE COlRINeD INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

@ 12" 0.c.

,
1
WING NUT |
,
|
1

..... ns

.Eo
—
/

RN
*

(6) cont. FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

NOTES: BE5T7 THIED, B 0.050" BERTHA ALUMINUM STORM PANEL s
1. INSTALLATIONS ARE ONLY VALID FOR A.5.D. DESIGN PRESSURE RATING WNNUI: __Uﬁlm\Ub DRAWN BY:

UP TO +650, -72.0 psf AND PANEL’S LENGTHS UP TO 920" EXCEPT AS NOTED.
N _:._m (ofe _..,,./ EASTERN METAL SUPPLY, INC £ i

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
4268 WEST ROADS DRIVE

&

g
w

A T 1747 ¢ LAG SCREWS

€ 6" 0C W1 1/27

Min. THREADED PENETRATION
@ MIDWIDTH OF PLATE.

2" x 47 PLATI
REQUIRED

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

|

| W : TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17-100
e L G 3 L
B e e m..fww.mmnmuwww.swm%anm@wﬁmhww e PHONE: (561)533-6051, FAX: (561)588—4780
LF Nlm.\ﬂz\b ﬂ-\ w\m :W Eﬁwm%mhlmmmmﬁw . FEV. WO DESCRIFTION DATE | Rev. Mo DESCRIFTION DATE DRAWING No
. s o 4
FLORIDA Lic. # 44167 : OD 157049 | on/26/17 : SHEET 12 OF 15




WOOD TRUSSES OR RAFTER
© 24" 0. C. REQUIRED

WOOD TRUSSES OR RAFTER \
© 24" 0. C. REQUIRED — — e
‘ \ [ \|\/ - e ]
—r = =
_ o , — |\|\\||l|l_ I - -
— - ] nﬂ 500" B-EQ0—E-E0—&-500 fnﬂl%
— B ﬁf\m _ _
| / ¥4 ~ 1" x 4" x 1/8"
f 1 1/4°8 x 3/4° Min. (6063-T5)
1" x 4" x 1/8" ITW BUILDEX Alum. TUBE W/
Min. (6063—T5) TEK SCREWS (3) 5/16" ¢ x 2"
.w&ﬂ | Alum. TUBE W/ © 6" O.C. 3 ﬂ LAG SCREWS TO
. & L (3) 5/16” ¢ x 4" A, EACH JOIST.
s x 2t | e RLLL Cont. | | LOCATE SCREW
._wH . _m.w..m.ﬁ EX EACH JOIST g _ AT MIDWIDTH OF
- nm ¥ M \  ContLOCATE SCREW SEE SCHEDULE EXISTING WOOD
@ 6" 0C _ AT MIDWIDTH OF FOR_Min. | 7 MEMBER (2 Min.
EXISTING WOOD SEPARATION . NOMINAL WIDTH)
| MEMBER (2" Min, To elass | m W/ 2 1/2" Min.
SEE SCHEDULE —(1)  NomNAL WiDTH) 1 o THREADED
FOR Min. | | W/ 2 1/2" Min. - ——L  eenETRATION.
SEPARATION THREADED
A-Tm0Guss | 4 | | PENETRATION.

ALTERNATIVE 10

ALTERNATIVE 9A

. %) — T
=y 147 820 x . i D
| 3 A” Wy . e
o x| HOD ot B A reps |
WING NUT @ _ _ 2" x 6° 7/8%¢ x 3/32" |
EVERY STUD “ 2" x 6" “ [Woop peck WING NUT
© 120 C TWoop pECK A*w%%c%mm: @ 120 c 7
| | NI T - .
I ER 4 1 el iy I P AP
Cont. | | ALLOWED) | [ o | e K EVERY STUD @
I ) , ol = Jll ~ - 12"0. ¢
| | | o o Pl =M N T B T |
: PRI | f \ N il R <
) _ - b4 Il 1/47 8 LAG T AN
- —— e B o — if;L/f/ﬂ/ T | / ! i SCREWS @ 6" 0. C. W/ / \ i R ,|® Cent.
T _ y > \u_ 27 e oLl |1 1 1/2" Min. THREADED B e e 14
| T — /lealea [ peoured | || PENETRATION @ MiDWIDTH 2" x 4" pLare] ||| Screws @ 67 0. ¢ wy
ﬂ /E\.“ 6 LAG SCREWS £ 174 16 ScRews | oF PLATE REGURED. mmb%mwﬁwz %w._wu%vmwi
: i @ 4" o.c. 1 1/2 Min. i
Rsss Pt ey Fenersiion N B S NN K e
ALTERNATIVE 12 + -
TERNATIVE 14
ALTERNATIVE 9 ALTERNATIVE 11 ¥ VALID FOR Max. +63.5, —63.5 psf.
CEILING & FLOOR MOUNTING INSTALLATIONS WALL MOUNTING INSTALLATION
SCALE : 1/4" = 1" SCALE : 1/4" = 1"

NOTE FOR COMBINATION OF SECTIONS:

YALL 008 (CELING WOUVING SECTIONS can o INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2017 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL Le.
(2.25" DEEP) DRAWN BY:

\ _:._mno._:./ EASTERN METAL SUPPLY, INC | 2%

NOTES:

T. INSTALLATIONS ARE ONLY VALID FOR A.S.D. DESIGN PRESSURE RATING
UP TO +65.0, —72.0 psi AND PANEL’S LENGTHS UP TO 9'-0", EXCEPT AS NOTED.

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. 4268 WEST ROADS DRIVE

TILLIT TESTING & ENCGINEERING COMPANY WEST PALM BEACH, F1. 33407

6355 N.W. 36th. St., Ste. i , F1. . -
Fhons + (305)871 1330 . P (SASDENS, 7. 331660 PHONE: (561)533-6061, FAX: (561)588-4780 17—100
EB—0006719 REV. NO DESCRPTION DATE | Rev. wo DESCRIPTION DATE DRAWING No

WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167 1 oL 15-049 03/26/17 3
2 4

SHEET 13 OF 15




1/4°0x8" ELCO male
PANELMATE TVAS ANCHORS
€6 1/2” 00 W/ 1 1/2"
Min. THREADED PENETRATION
INTO WOOD HEADER.

.500"

e 1 7/8" Min. _ . 2* EXISTING
y/, PENETRATION ,, m tﬁq \ BRICK VEENER
h _ A
T~ 4" x 8" (Min.) EXISTING Tu.u%,fpﬁ
- 5 WOOD BEAM REQUIRED.
o 4 STRUCTURAL ADEQUACY e L
_ OF EXISTING WOOD 77 7 7]
BEAM TO BE CERTIFIED A4 /
'y BY REGISTERED ENGINEER A | \
£Q4 OR ARCHITECT PRIOR (AL AN /] = (L AL L
| 70 SHUTTER INSTALLATION. = WL —EE=T=s
A Z el
S 1 2 |
SERR T 3 .
1/4"0 LAG SCREW _ w .2507 | :\QDU\\\\. Min,
- . g . Max. HEADER | \
@ 4" 0.C. W/ 1 1/2" Min | REQUIRED | \ | / L
THREADED PENETRATION | Cont. | | !
. .LU , A L
_ S u = EXISTING
ﬁ ‘g STEEL ANGLE LINTEL
A I@ | f AS APPLICABLE
m [
SEE SCHEDULE FOR , [l
Min. SEFARATION | ‘
7O GLASS | SEE SCHEDULE FOR Min.
R i [ 1 [ SEPARATION TO GLASS
1L -
T .

~~Mox. PANEL LENGTH (SEE NOTES BELOW)

7/8% x 3/32" |

WING NUT @J :
2O

EXISTING

@ 12" o.c.

ALTERNATE LEG  Cont:

EVERY STUD i
2%4"
Wooo
_ PLATE

LOCATION ™\
1.125 .
.||.ﬂr/F } 6
[ g 1 7/8" Min. ||
< = PENETRATION |
. e
” i
T
2% x 67 & \
- L 1,/4" LAG SCREW J
M%%&mwwmx @ 4" 0C W/ 1 1/2" Min.
(NG FINISH THREADED PENETRATION EXSTING ] L
ALLOWED) 2" x 4" stups

ALTERNATIVE 16 *

@ 16" 0.C. Max. REQ'D

1/478x8" ELCO male PANELMATE
TVAS ANCHORS @ 4 1/2” 0.Cc. T0

EXISTING PLYWOOD

CEILING & FLOOR
MOUNTING INSTALLATIONS

SCALE : 1/4” = 1™

NOTE FOR COMBINATION OF SECTIONS:

WALL /FLOOR /CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

/ BRICK SiLL
/

¥ VALID FOR Mox. +63.5,

REQ'D (TYP) W/ FASTENING
7O STUDS " AS PER
SECTION 2909 OF THE
SOUTH FL. BUILDING CODE.

ALTERNATIVE 17 *

A5.D. DESIGN PRESSURE RATING.

EXISTING Min. 1,/2” PLYWOOD /lmkmnzm
BRICK SiLL /

S

EXISTING

~63.5 psf.

BUILD-OUT INSTALLATION

SCALE : 1/4" = 1~

INSTALLATION DETAILS ON EXIS

—Max. PANEL LENGTH (SEE NOTE BELOW)—

1/4" 8-20 x 3/4”
BOLTS W/ 7/87x
3/32" WING NUT
@ 127 0. ¢

NOTES:

UP TO +65.0,

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

1. INSTALLATIONS ARE ONLY VALID FOR A.S.D. DESIGN PRESSURE RATING
—72.0 psf AND PANEL'S LENGTHS UP TO 9'-0", EXCEPT AS NOTED.

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

v,

il 1/4° LAG SCREWS & 6"
O.C. W/ 1 1/2" MIN.

THREADED PENETRATION TO
EXISTING WOOD HEADER.

250"

| N
, )
_ ﬁ &
WOOD HEADER &
REQUIRED
N O 4
k g
SEE SCHEDULE _ Ly ]
o FOR Min. | Iy
SEPARATION _ G
TO GLASS =
ﬁ <]
g _
g | | :
\ 3 exsive—"]
- e g GLASS
I
\ @ %
Qo
e _ | -1/4%-20 5.5 3
CLASS | BOLTS W/
_ 7/8"% x 3/32"
6 WING NUT
@ 1270 ¢
- ‘ Cont. A !
T |
= =
mo.fl e s
o) S N7
e O e =] - L EQ
tl: 1/470 LAG SCREWS @ 6~ £0
“ OC. W/ 1 1/2" MiN. :

2" x 4 pLaTE|| ||
REQUIRED || | -

M W\
ALTERNATIVE 18A x

1

THREADED PENETRATION @
MIDWIDTH OF PLATE

Fﬂﬁjﬁf.@.’iva‘ji

_D;ad

Tlagaess”

A

Ay T m....u ‘._,..‘.,

ALTERNATIVE 185 =

1/470 LAG SCREWS @ 6
0.C. W/ 1 1/2" MIN.

EXISTING WOOD HEADER.
_.250"

REQUIRED

DETAIL 2/15

34"
T

27 x 4”
REQUIRED

NN &

PLATI

WOO0D HEADER

SEE SCHEDULE
FOR Min.
SEPARATION
70 GLASS g

&
-

1/4'-20 S.5.

@
R

.
S
o

[E]

4°0 LAG SCREWS

6" 0. C W/ 1 27/32"

Min. PENETRATION ®
MIDWIDTH OF PLATE,

——Max. PANEL LENGTH (SEE NOTES BELOW)

”

[ THREADED PENETRATION TO

LY

™

Ny

INTERIORLY REMOVABLE PaNEL (T) Wy >

SIDEWALK BOLTS (SEE
CONNECTED TO
@ 6" 0C &

DETAIL 2)

THRU 5/87¢

FASTENED

HOLES AT @
AT REAR W7 7/8%0x3/32" WING NUT

SECTIONS 18

SCALE : 1/4" = 1~

WALL MOUNTING INS TALLATIONS
* VALID FOR Max. +63.5,

—-63.5 psf.

A.S.D. DESIGN PRESSURE RATING.
INSTALLATIONS VALID FOR PANELS (1) USED JoINTLY

©@ EVERY SIDEWALK BOLT.

WITH INTERIORLY REMOVABLE PANELS @

UILDINGS

FLORIDA_BUILDING CODE (High Velocity

Hurricane Zone)

0.050" BERTHA ALUMINUM STORM PANEL

6355

FLORIDA Llic. # 44167

4

©2017 TILTECO, INC. Le,

(2.25” DEEP) DRAWN BY:

EASTERN METAL SUPPLY, INC | 77

ILIEC O inc . i
it 4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17-100
Fﬂhwﬂwwwmwm%w.x_wqwz..; o 13, 3oree PHONE: (561)533-6061, FAX: (561)588—4780 -
WALTER A TIC o7, PE T s | s [ ww | ORAWING Mo
. /73 L. -

! ob 15-0s5  |orfzssir] s SHEET 14 OF 15




1/4"8 5.5. LAG SCRFW —]

4" x 8" (Min.) EXISTING

1/4'0 S.5. LAG SCREW [ /) ‘\_.W.IQ
€ 47 0.0 W/1 1/2" MIN. ——~, /| | |
THREADED  PENETRATION

WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING wWooD

BEAM TO BE CERTIFIED
BY REGISTERED ENGINEER

® 47 0.C. W1 1/2" MIN.
THREADED PENETRATION

OR ARCHITECT PRIOR

{0.25”

sl
_ \ Cont. W
| oy
o
SEE_SCHEDULE | g A
A FoR Min I =D S EXISTING
EXISTING ™ SEPARATION ] i
GLASS T0 GLASS _ o
_ ﬁ &
_ 3
&
1 L 4
) L A -~
g
b
— g
=
1
|, ~7/8" ¢ x 3/32"
WING NUT @ f
EVERY STUD |
@ 12" 0. C. g
M
i 2" x 67
= WOoD DECk
REQUIRED

/
1/4"0  LAG SCREWS @ 4" 0./

W/1 1/2" MIN. THREADED PENETRATION

1/4'¢ LAG SCREWS @ 2" 0.C. -
W/T 1/2" MIN. THREADED PENETRATION

ALTERNATIVE 19A

TO SHUTTER INSTALLATION.

|

(+)

SEE SCHEDULE

+ ALTERNATIVELY, TRACK @ MAY BE ATTACHED
TO HOLLOW CEILING AS PER DETAILS SHOWN
ON ALTERNATIVE 94, SHEET 13 OF 15.

FOR Min.
SEPARATION
TO GLASS

—

DETAIL 2—
3/4"
T

J

—7/8" 5 x 3/30"
WING NUT @
EVERY STUD
/ ~ @ 12”7 0. ¢

4

——————Max. PANEL LENGTH (SEE NOTES BELOW)—

2" x 67
- WOOD DECK
— ] REQUIRED

1/4°0 5.5. LAG SCREW —1-
® 47 0.C. W1 1,/2" MiN.
THREADED PENETRATION

o

4" x 8" (Min) EXISTNG
KT..E.I#.TBI..,

1/4"6 5.5. LAG SCREW
@ 47 0.C. W/1 1/2" MIN.—
THREADED PENETRATION

WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING WoOD
BEAM TO BE CERTIFIED
BY REGISTERED ENGINEER
OR ARCHITECT PRIOR

T

TO SHUTTER INSTALLATION.

(+)

{025
v @ £y
; \ Cont. m
| : | g
(n | o
W (3 EDUL, : P
w | S gupe | g D 3
EXISTING SEE_SCHEDULE ; = " SEPARATION T ; 0
GLASS . FOR Min. | | I@ I TO GLASS | I
SEPARATION 8 3
0 GLASS | i =
; RS 4 o
| © 0
_ : -
. "||...|L’L| <3 m
A A . ~ ©
m N e &
g o
|
I HO s g
1 A]
_ = | g
m\Aiw\m. o x 3/32" | A—7/8" 8 x 3/32" %
vl v nuT @ s owe vt e F
@/ AN every stup 10 A\ everr stup
Cont, 1/ | & i1z"0 ¢ | Cont. | @ 127 0. ¢
ALTERNATE KN | _, ALTERNATE |
[LEG LOCATION _ _ —LEG LOCATION /
- | ) \ |
A 7 Mg SO T 112 \ E
I b — Tk
= _ = —— \ |
S 2" x 6" f e N 27 x 6"
. w — WOOD DECK T = WooD DECK
) ) REQUIRED m = REQUIRED

INTERIORLY REMOVABLE PANEL (T)w,/

AT REAR W,

SIDEWALK BOLTS (SEE DETAIL 2)
THRU 5/8"8

CONNECTED TO
HOLES AT @ 6" O.C & FASTENED
7/8"0x3/32" WING NUT

1/4°6  LAG SCREWS © 4
W/T 1/2" MIN. THREADED

© EVERY SIDEWALK BOLT.

ALTERNATIVE 198

CEILING & FLOOR MOUNTING INSTALLATIONS

8
o
5
T

7/8" 6 x 3/32%

SECTIONS 19

SCALE : 1,/4" = 1"

1/4°-20x1" S.S. SIDEWALK BOLTS,
W/3/4" SLOTTED HEAD, FIXED TQ
INTERIORLY REMOVABLE PANEL (1)
THRU KEY HOLE ({2) € 6" O.C.

(D

W/1/4"-20 NUT AT REAR.
\\\ REMOVABLE
—

WING NUT @ PANEL
05 0 c \ﬁ ! ~
7 \\ |
_ m _
yﬂ 5 _ ‘m —it ] nnu _ g
o B -5 B
§ 3 MO JTAN R _
_ : = [ [\ u |
—F N\ ! k
! // i |
T | |
875 — L \ | L
A el
N .
oL —oso” HOLE @ 6” o.C.

NOTE FOR COMBINATION OF SECTIONS:

FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

" o0.C.
PENETRATION

ALTERNATIVE 204
CEILING & FLOOR MOUNTING INSTALLATIONS
SECTIONS 20

INSTALLATION DETAILS ON_EXISTING WOOD BUILDINGS

AT REAR W,

INTERIORLY REMOVABLE PANEL (7) Wy
SIDEWALK BOLTS (SEE DETAIL 2)

CONNECTED TO (1)) THRU 5,878
HOLES AT @@ 6" O.C & FASTENED

7/8"8x3/327 WING NUT

© EVERY SIDEWALK BOLT.

SCALE : 1/4" = 1"

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR
UP TO +65.0,

PINE No. 2, W/ SPECIFIC DENSITY

A.S.D. DESIGN PRESSURE RATING
—65.0 psf AND PANEL’S LENGTHS UP TO 9'—0”

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
OF 0.55 OR EQUAL.

ALTERNATIVE 208 .

/48 LAG SCREWS @ 2" o..

W/1 1/2" MIN. THREADED PENETRATION

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

ya‘ﬂ.‘.i,-vv‘z-w“
g

. .1J’5y
Y oud
.r\)

6355 N.W. 36th. St, Ste.
Phone :

©2017 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL Le.
(2.25" DEEP) DRAWN BY:
07/26/17
w —_—l —m COinc \ EASTERN METAL SUPPLY, INC aTE:
d 4268 WEST ROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 17100
Q%xlwww.smmxxﬁﬂm_wmm S iee PHONE: (561)533-6061, FAX: (561)585-4780 -
WAL ﬂh_amm%mm,mmwnw - REV. NO DESCRIPTION DATE REV. No DESCRPTION DATE DRAWING No
r. = i
FLORIDA Lic. # #4167 L e R 77 2 SHEET 15 OF 15




